CHAPTER 1

Multiple Choice Questions

  The total dollar return on a share of stock is defined as the: 
A. change in the price of the stock over a period of time.
B. dividend income divided by the beginning price per share.
C. capital gain or loss plus any dividend income.
D. change in the stock price divided by the original stock price.
E. annual dividend income received.

  The dividend yield is defined as the annual dividend expressed as a percentage of the: 
A. average stock price.
B. initial stock price.
C. ending stock price.
D. total annual return.
E. capital gain.

 

  The capital gains yield is equal to: 
A. (Pt - Pt + 1 + Dt + 1) / Pt + 1.
B. (Pt + 1 - Pt + Dt) / Pt.
C. Dt + 1 / Pt.
D. (Pt + 1 - Pt) / Pt.
E. (Pt + 1 - Pt) / Pt + 1.

 

 When the total return on an investment is expressed on a per-year basis it is called the: 
A. capital gains yield.
B. dividend yield.
C. holding period return.
D. effective annual return.
E. initial return.

  The risk-free rate is: 
A. another term for the dividend yield.
B. defined as the increase in the value of a share of stock over time.
C. the rate of return earned on an investment in a firm that you personally own.
D. defined as the total of the capital gains yield plus the dividend yield.
E. the rate of return on a riskless investment.
 The additional return earned for accepting risk is called the: 
A. inflated return.
B. capital gains yield.
C. real return.
D. riskless rate.
E. risk premium.

 
 The standard deviation is a measure of: 
A. volatility.
B. total return.
C. capital gains.
D. changes in dividend yields.
E. changes in the capital gains rate.

 
 The average compound return earned per year over a multiyear period is called the: 
A. total return.
B. average capital gains yield.
C. variance.
D. arithmetic average return.
E. geometric average return.

 

 Which one of the following should be used to compare the overall performance of three different investments? 
A. holding period dollar return
B. capital gains yield
C. dividend yield
D. holding period percentage return
E. effective annual return

 . If you multiply the number of shares of outstanding stock for a firm by the price per share, you are computing the firm's: 
A. equity ratio.
B. total book value.
C. market share.
D. market capitalization.
E. time value.
 Which one of the following had the highest risk premium for the period 1926-2006? 
A. U.S. Treasury bills
B. long-term government bonds
C. large-company stocks
D. small-company stocks
E. intermediate-term government bonds

   Which one of the following had the greatest volatility of returns for the period 1926-2006? 
A. large-company stocks
B. U.S. Treasury bills
C. long-term government bonds
D. small-company stocks
E. long-term corporate bonds

 

 One year ago, you purchased 100 shares of Southern Foods common stock for $41.60 a share. Today, you sold your shares for $39.70 a share. During this past year, the stock paid $1.40 in dividends per share. What is your dividend yield on this investment? 
A. 3.30 percent
B. 3.37 percent
C. 3.44 percent
D. 3.53 percent
E. 3.61 percent

$1.40 / $41.60 = 3.37 percent
 One year ago, you purchased 300 shares of stock at a cost of $7,660. The stock paid an annual dividend of $1.10 per share. Today, you sold those shares for $28.20 each. What is the capital gains yield on this investment? 
A. 9.96 percent
B. 10.44 percent
C. 12.48 percent
D. 13.33 percent
E. 14.75 percent

[($28.20 x 300) - $7,660] / $7,660 = 10.44 percent

 

 
  Eight months ago, you purchased 300 shares of a non-dividend paying stock for $27 a share. Today, you sold those shares for $31.59 a share. What was your annualized rate of return on this investment? 
A. 17.00 percent
B. 21.45 percent
C. 25.50 percent
D. 26.55 percent
E. 28.00 percentHPR = ($31.59 - $27) / $27 = .17
Annualized rate of return = (1 + .17)12/8 - 1 = 26.55 percent

 

 Last year, ABC stock returned 11.4 percent, the risk-free rate was 3.2 percent, and the inflation rate was 2.8 percent. What was the risk premium on ABC stock? 
A. 8.20 percent
B. 8.43 percent
C. 8.60 percent
D. 8.88 percent
E. 8.97 percent

Risk premium = 11.4 percent - 3.2 percent = 8.2 percent

  Over the past four years, Sandstone Quarry stock produced returns of 14.6, 17.2, 9.8, and 2.9 percent, respectively. For the same time period, the risk-free rate 4.6, 5.2, 3.8, and 3.4 percent, respectively. What is the arithmetic average risk premium on this stock during these four years? 
A. 6.13 percent
B. 6.25 percent
C. 6.50 percent
D. 6.88 percent
E. 6.97 percent

Average risk premium = [(.146 - .046) + (.172 - .052) + (.098 - .038) + (.029 - .034)] / 4 = 6.88 percent

  An asset had annual returns of 12, 18, 6, -9, and 5 percent, respectively, for the last five years. What is the variance of these returns? 
A. .00810
B. .01013
C. .01065
D. .02038
E. .04052

Mean = (.12 + .18 + .06 - .09 + .05) / 5 = .064
Var = [(.12 - .064)2 + (.18 - .064)2 + (.06 - .064)2 + (-.09 - .064)2 + (.05 - .064)2] / (5 - 1) = .01013

 

 Over the past five years, Northern Railway stock had annual returns of 11, 13, -4, 7, and 18 percent, respectively. What is the variance of these returns? 
A. .00548
B. .00685
C. .00780
D. .01370
E. .02740

Mean = (.11 + .13 - .04 + .07 + .18) / 5 = .09
Var = [(.11 - .09)2 + (.13 -.09)2 + (-.04 - .09)2 + (.07 - .09)2 + (.18 - .09)2] / (5 - 1) = .00685

  An asset had annual returns of 15, 12, -18, 2, and 37 percent, respectively, for the past five years. What is the standard deviation of these returns? 
A. 8.96 percent
B. 16.05 percent
C. 17.92 percent
D. 18.58 percent
E. 20.03 percent

Mean = (.15 + .12 - .18 + .02 + .37) / 5 = .096
Var = [(.15 - .096)2 + (.12 - .096)2 + (-.18 - .096)2 + (.02 - .096)2 + (.37 - 096)2] / (5 - 1) = .04013
Std Dev = ( (.04013) = 20.03 percent

  Uptown Industries common stock had returns of 8.7, 11.2, 10.6, and 5.9 percent, respectively, over the past four years. What is the standard deviation of these returns? 
A. 2.07 percent
B. 2.38 percent
C. 2.41 percent
D. 2.59 percent
E. 2.62 percent

Mean = (.087 + .112 + .106 + .059) / 4 = .091
Var = [(.087 - .091)2 + (.112 - .091)2 + (.106 - .091)2 + (.059 - .091)2] / (4 - 1) = .00057
Std Dev = ( (.00057) = 2.38 percent

 


 

 Black Stone Mines stock returned 9, 16, -7, and 13 percent over the past four years, respectively. What is the geometric average return? 
A. 6.21 percent
B. 7.36 percent
C. 7.75 percent
D. 9.94 percent
E. 10.33 percent

Geometric average = [(1 + .09)(1 + .16)(1 - .07)(1 + .13)]1/4 - 1 = 7.36 percent

 A stock produced annual returns of 5, -21, 11, 42, and 4 percent over the past five years, respectively. What is the geometric average return? 
A. 5.78 percent
B. 6.03 percent
C. 6.34 percent
D. 7.21 percent
E. 8.20 percent

Geometric average = [(1 + .05)(1 - .21)(1 + .11)(1 + .42)(1 + .04)]1/5 - 1 = 6.34 percent
 
